S M7 4548 15H

KIRRF 808 TS 2R
B R B O A —

AHTEE FEART REHNIFL) THE

PEESI (BERMIELE) RARVXZH OB AR1EREDERFESH 49 %
1. IR A DER = : 57D BA L M
X = g | — =
MLEEEE I PW i i
e i} #£| 1,019,200 20,800
MEERBESE 143,398 2,926
H )} A 0 0
mEEtEASE 0 0
& Hi 1,162,598 23,726
2. ZXHDER _ BT M
*4 E % *)J _A&-)T:U E‘ﬁ". Eﬂ
F 5 | X I & Eh % &%
25927 IL(BBEHE) 550
EHME 36,750 750| ERDFE|= 200
HEAHE. 10 #h 2,250
EREEMPE 471,870 9,630 EAVK, BY. B+ R 4 680
é;ﬂ;g;éﬁ%é T YA B & () 6,700
ey S i
® 9 EEE 196,000 4,000 THE=SERE 4,000
R OBE B B 73,500 1,500| fREEEITE (NEH - HERERH) 1,500
ZEETILINL 7,000
T Dt EE 362,943 7407 £EFIRGAN—FD) 187
ERER 220
EHREEE 9,800 200| #RAFHCE 200
¥ it & 11,735 239 239
=] it 1,162,598 23,726

1/2R=




SHTEE

BEMEEI—R

S M7 4548 15H

AERFIBETESFF
®# & B F & —

SEBL (RERNEERREE) PHE

1. IRADER = : 5D ==X !
3 = g | — Z =
LEEEE T I PY i %
= 1] B 363,600 20,200 20,200 x 184
AMEEZEBE 213,217 6,634] 6,634 x18% K1 13,400 x 74 (ALINE)
= Hi 576,817 26,834
2. XHDER _ BA L M
ﬂ- E % *)J _AET:(’J Eﬁl’ Eﬂ
Y 5 B (X 1 & /];“nﬁﬁﬁ :H? = &%
T INSFUT AR, /XM RIIYM, 26,834
EEREEMEE 483,017 26,834 2EH ETRY
EE~NDRE 93,800 13,400 X 72 GRS EE)
= i 576,817 26,834
BEHMFEI—X
1. IR A DER ==X v M
. = | —AHi=Y -~
"B |3mamlw A i ¥
1 1R Eoy 74,800 6.800] 6,800 x 114
AR T ES 81,005 1,218 1,218 x 114 K1 5200H x 13% GBRIMAE)
= B 155,805 8,018
2. XHDE ==X v M
Boog | &80 |ZABEY G B
¥ E | X W & & £ &%8
UM, yRvx—TJvo AFLUR—K 8,018
EEBRETHME 88,205 8,018 . -
FREEHRA RL—s oG R—s S, Rt
Y5E~DRE 67,600 5,200 x 134 (AT IRE)
= i 155,805 8,018
EHI—R
1. IR A DER = : 57D ==X v M
Y = g | — = o
WLIEEE T I PN i %
= IR Eoy 44,000 2,200 2,200 [ x 20 £
= B 44,000 2,200
2. XHDE B fs1 M
*4 E % *)J _A%f:l’) AL Eﬂ
T H B[ H & R £ &%
EEZ M E 44,000 2200| EAHZWTAE 2,200
= H 44,000 2,200

2/2R—T




